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MAEC-07
June - Examination 2019
M. A. (Final) Economics Examination
Labour Economics
Paper - MAEC-07
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.
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Section - A 8§x2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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Give answer of the following questions:

=1 met & SR ST

(i)

(ii)

(iii)

(vi)

Define labour.

S I IRATIT DI

What is internal labour?

JdRD S T 82

Name two factors affecting supply of labour.

S gl @1 gAIfdd R arel 4 deai & A faRau

Explain the meaning of labour productivity.
S IcuTgend] o1 37ef FUse DI

What do you know about the upper limit of wages?

AOIGY) I FHURT T A AT AT FHS & ?

Explain minimum wages.

G HTGY! bl ¥ Y|

(vii) What is the meaning of labour union?

S TG F R ae g ?

(viii) What is Employee State Insurance Act 19487

Note:

PHARY I 7 IrffT 1948 a7 §?

Section - B 4x8=32
(Short Answer Questions)
Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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fAder: gl IR Ul & IR ST 3T 3 IR Dl 3Ffehad

200 greci o AT HIRTTI T U 8 37! & gl

Describe the characteristics of labour.

S Y fIAYAT3N BT guie HifTu

Why is women's wages less than men? Explain.

TfeeTTat &1 FoTgdl L8l Bl ger il H BH &l Eldil & 2 guie DTy
Write an essay on the characteristics of agricultural labour in
India.

IRA H Y #ifyent 1 fFeiwaret w og foiRau)

Comment on the profits and losses from labour unions.

S A F B dlet AT -8 IR fewuly HifvTu

Explain the barriers to collective bargaining in India.

ART H AFYfgh AledrSi H ATl STensll P A=Ay

Explain the types of social security.

AT R&T P ThRI BT quie B

Mention the government efforts to overcome the child labour
problem in India.

YR H ST FERAT DI G PRI TRBNI YT DT Ieeidd
EAIEN

Mention the reasons responsible for the inferiority of agricultural
workers.

HYsfin 6 g9 S & o ITRGT BRON BT Seeid HIVTT|
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Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

QU - g
(Sref TR 1)
fAder : forgl S U9l & IR SINATI 3T 31U IR B s 500
gegl o IR Hifow U U9 16 3T &7 Bl

10) What are the methods to determine minimum wages in India?
Explain the implications of higher wages in an economy.

qRA H ~gIa Foigl FgiRur & a1 Rib 87 T srefegawr §
SeE Hoigy! o fHifedref ol FHeSU

11) Discuss the merits and demerits of time wage and piece wage
system.

THITAR YT PRIGAR OGN UGHi &b U-arsi i fereem
SIS

12) Explain wages determination under perfect competition by
suitable diagrams.
quf SRR & Seeria Hotge! MefRur @l Iugerd JETREl GRI
HHATV

13) Discussthe causes of unemploymentinIndia. Give suggestions
to solve it.

qRA H SRISFIRT & HRON DI IR HINTY| 3D FHEM 8
SEICKISIY
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